EARAZROREIERT — 2 N—XBISY —F 2012548248 (X)) 2[@1£R4H

mﬂﬁ%—ﬂﬁ c12 (xwlw | lmEmml - |5 5) wom 8
[AE£] 1%&:170,000  ~ 2% :34,000”  33%&:1500 M . 43%&:11,000 " 53 :6,000 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . MAHIES] 132, —2-1- . — EHEE (£2R)
i lglg | ANTpn—> o4 s 1(3_2)6 2-2-1-1 | 38.8 1 (4-835) Shae
Lib—=>NFy K B:O—-LIJs—F2X HFREANIS
N N N fnEEfnE :32. -1-2- . — £H—8 (£R)
21111 X TFTINA 2 — < 0 56.0 (17/39276) 22 | 388 2 (4_739) KT
R:2&—F47aAV—-> B:IT7HhRy 3> INET 7 — L
N JII7REABA : -3-3- - SREF (2R
slglo|LToK—T4—2 # 5 | LI - AR A T | e
L7 RYAYRX BiLA1 K-y IR A IEAT
ZEBET] : 54— — SHEUWE (£R)
4 | VT2 i 5 é(t.o% 1.(344).5 4-5-4-4 | 39.5 5 zzg? s &2
R:viNyBgLHT1 BFNI—H— B D45
5 i o4 | BRZT 1:34.9 6-6-4-5 |39.8| — 3 43 | HARR (£R)
5/7|7|F—71413 54.0 ) 4 | ) Tr-zrEvar
RiaAv A=A F—7 BALY—FrH— =R77— L4
e IRIHHT :35. ~7~7- . — HEEFR (£IR)
AR w5 |2 eme | wrro [mal = o [ ao [
Lih—L B:XTIT7)E— A XEYT7—L
o N . BAK— . 4G _ IEEFE (£R)
N ARG fg | et el || o [mm
74NV KTy Y2 BRI Fy70-X 772 NG
. N N BREBAHE : -8-8- — BREBSE 1 (£IR)
8 NERE DEDIN # 10 o 1.(366).2 8-8-8-8 | 40.2 8 (4_558) el (&)
R:xvAxy 94 —-> B:75L7L—2 H—=ANZFIN=7ZX2Y K
- 6 | EERE _ - - — - 430 | HARRK (£R)
% 2 AT y—FK—~ e 54.0 (Ba41) (+p) | EEIBE
TP AFV=Zy T BibhX/K—% BERFEKS
® I—F—@EBIERL
|S=7r= 1,8,9,(3,4),(5,7),6
Ao=5"= 1,8,9,4,3,7,5,6
T =35r= 8,1,9,(3,7),4,5,6
40—F— 8,1,9,3,7,5,4,6
[ RN
B 8 100M 794K 1-8 130 & 1-8 140/ &R 1-8-9 2,270/
# B 8 1004 8-9 1,150H B 8-1 180 EE 8-1-9 3,390M
1 110 1-9 1,570 B = 1-8 150H
9 160 B H 8-1 190

ABICOVWTRDTEEERROODE. TR LIV,



